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PROBABILITY

1. If the function P (X=x) =kx,.....x=1,2,3,4,5=0 ....otherwise

is a probability mass function (p.m.f.) ,then : k=...

D. none of these

Answer: B


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bKnb4lj7wgJA

° Watch Video Solution

2. Detemine k such that the following funciton is a p.m.f

P(X:ar:):k:(2 >,x:0,1,2,3

z!

=0 otherwise .

D. none of these

Answer: C

° Watch Video Solution

3. Find k ,such that the function
4 .
P(z) = { (k( >, yo =0,1,234,k > 0), (0, otherwise.)
T

is a probability mass function (p.mf.)


https://dl.doubtnut.com/l/_bKnb4lj7wgJA
https://dl.doubtnut.com/l/_t3fZgjWne8LV
https://dl.doubtnut.com/l/_tUjZGnN61IYp
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D. none of these

Answer: B

o Watch Video Solution

4.The p.mf.of arwv. X is as follows :
P(X =0) =3k P(X =1) = 4k — 10k*, P(X = 2) = 5k — 1,

P(X = z) = 0 for any other values of x, thenk =

Al

= W= o=


https://dl.doubtnut.com/l/_tUjZGnN61IYp
https://dl.doubtnut.com/l/_fv1DVGzJ3TXx

Answer: C

° Watch Video Solution

5.1f the p.d.f.ofa crv. X is

f(z) = {kxz(l—w3),0 <zx<1

0, elsewhere

then :k...

A.6
B.5
C.4

D.3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fv1DVGzJ3TXx
https://dl.doubtnut.com/l/_THaStNwSsD5Q

6.The pd.f.of acrv. Xis

fo) {k sin(%),o <z<5

0, elsewhere
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D. none of these

Answer: C

° Watch Video Solution

) kx,x = 1,2,3
7.The pmf.ofarv.Xis P(z) = ,then k =

0, therwise

>

w
W= N =


https://dl.doubtnut.com/l/_O15etgIfl8IT
https://dl.doubtnut.com/l/_qjpek8akZcF7
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Answer: A

o Watch Video Solution

8.The p.df. of a.cr. Xis

f(m)_{%,0<:c<2

0, otherwise

Then P (X < 1.5) and P(X > 1) are

A. 0.25, 0.50
B.0.75, 0.5
C.0.6, 0.27

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qjpek8akZcF7
https://dl.doubtnut.com/l/_gkK8ZvqvsVrT

9.If the p.d.f.of a crv. Xis

f(m)_{i,—1<a:<3

0, otherwise

then:P(X > 0) =.

A.0.25
B. 0.50
C.0.75

D.1

Answer: C

° Watch Video Solution

10.if the p.dfofaa.crvXis
f(2) %,0 <z <4
€T =
0, otherwise

then P(X < 1) and (P(X > 2) are


https://dl.doubtnut.com/l/_gkK8ZvqvsVrT
https://dl.doubtnut.com/l/_Rd7nVqIpqyme
https://dl.doubtnut.com/l/_EPOlOaRdy6Xw
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D. none of these

Answer: A

o Watch Video Solution

11.If a curve X has probability density function (pdf)
az,0 <z <1
a,l <zx <2

=) = d3a —ax,2< <3

0,otherewise

Then, a is equal to

@

N
| = W=


https://dl.doubtnut.com/l/_EPOlOaRdy6Xw
https://dl.doubtnut.com/l/_P6LuO3Q3v2TS

Answer: C

° Watch Video Solution

Lr=12...15
12.The pmf.ofarv.Xis P(z) = 15 , then Var (X) =
0, otherwise

EN IR N B B S N

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_P6LuO3Q3v2TS
https://dl.doubtnut.com/l/_KJSBSmwPRak6

13.Pd.f.ofacrvXis
6z(l—z),0<z <1
o) = {

0, elsewhere
IfP(X < a) = P(X > a)then:a-=.

Al

= W= o=

Answer: B

o Watch Video Solution

14. A crv X has the p.d.f

o) = {

IfP(X <a)=P(X >a),then:a = ..

3z20<z <1

0, elsewhere


https://dl.doubtnut.com/l/_8XWtLiYsJmHU
https://dl.doubtnut.com/l/_jo0815NQAWko
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Answer: A

o Watch Video Solution

15. The life in hours of a ratio tube is continuous random variable with

pdf

19 & > 100
fle) =1 ¢

0,else where

Then, the probability that the life of tube will than 200 h if it is known

that th tube is still functioning after 150 h of services is

w
| = W= A=

D. none of these


https://dl.doubtnut.com/l/_jo0815NQAWko
https://dl.doubtnut.com/l/_TxIduJakxRd1

Answer: A

° Watch Video Solution

16. The amount of bread x (in hundreds os pounds ) that a bakery sells in

a day has a Pdf:

kx,0<zx <5
f(z) = ¢ k(10 — ), 5<z <10
0, otherwise

Then the probability that the amount of bread that will be sold tomorrow

will be less than 500 pound is ..

w
(TS ST IS N

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TxIduJakxRd1
https://dl.doubtnut.com/l/_MBMs20mCvJQC

=~ =123
17.The pmf.ofarv.Xis P(z) =< ° , then E (X) =
0, otherwise

343
297

294
" 251

297
294

D. none of these

Answer: B

o Watch Video Solution

. kz?x = 1,2,3,4
18. The p.mf.of arv. Xis P(z) = ) ,then E (X) =
0, otherwise
A. 1.6111
B.0.49
C.0.59

D. 0.69


https://dl.doubtnut.com/l/_W1pRZc6p5Ebk
https://dl.doubtnut.com/l/_INQl8qwv6R49

Answer: D

° Watch Video Solution

19. A fair coin is tosed 3 times. A person receives Rs. X? if he gets X

number of heads in all. His expected gain is

A1l
B.2
C.3

D.4

Answer: C

° Watch Video Solution

22

20.The pdf.of Xis f(z) = { 187 S 3,then P(|X| <1)=
0, otherwise



https://dl.doubtnut.com/l/_INQl8qwv6R49
https://dl.doubtnut.com/l/_DY2aHUuuY3Dl
https://dl.doubtnut.com/l/_Q1bg9Ew1Ug1E

D. none of these

Answer: A

o Watch Video Solution

21.The p.df. of Xis f(z) = { 2w x| < 1) -
0, otherwise
Al
)
. 2
9
3
9
D. 2
9
Answer: B

| o WMl \ i dan C Al ikl mn


https://dl.doubtnut.com/l/_Q1bg9Ew1Ug1E
https://dl.doubtnut.com/l/_RnMHtCHkWyh2
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Il<z<oo
X

22.Given : f(z) = { is p.d.f. of crv X

0, elsewhere

IfA:1<z <2and B:4<z <5b,then: P(AUB) = ...

A. 033
B. 0.44
C.0.55

D. 0.66

Answer: C

o Watch Video Solution

. %,1 <z < oo
23.Thepdf.ofarv.Xis f(z) =4 °

0, otherwise

,then F (x) =

1
A——1
i
1
B.1—- —

Z


https://dl.doubtnut.com/l/_RnMHtCHkWyh2
https://dl.doubtnut.com/l/_nlNGpwDpdWLx
https://dl.doubtnut.com/l/_Ov61xDv063WN
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Answer: B

° Watch Video Solution

24, The pdf of a random variable X is given by
flz)=3(1-22°),0<z <1
=0, otherwise

) 1 1
Find P(Z <X < §)
216

864

179

864

179
" 216

A.

D. none of these

Answer: B

(e~ |


https://dl.doubtnut.com/l/_Ov61xDv063WN
https://dl.doubtnut.com/l/_yFXoZh1QuX5F

[ @ Watch Video Solution

T
25.Given the p.df of a continous rvXwas f(z) = —, — 1<z < 2

=0, Otherwise
Determine the c.d.f of X and hence find .

P(X<1),P(X< —2),P(X>0),P(1<X<2)

A 2z — 3z
B.3z — 4x°
C.3z — 2z°

D. none of these

Answer: C

o Watch Video Solution

26.The p.mf.of ar.v.is

15 _
=0 = 0,1,...,5,then

P(X:x):{

0, otherwise


https://dl.doubtnut.com/l/_yFXoZh1QuX5F
https://dl.doubtnut.com/l/_7UCARhVVZGfk
https://dl.doubtnut.com/l/_NxX9o6c2nReY

Aa<b

B.a >

C.a=b

D. none of these

Answer: C

o Watch Video Solution

2x
27.The pmf.ofarv.Xis P(z) = { n(n+1)
0
Then E(X) =
A n 1
T3
B n i 1
"3 6
c n 1
5 +3

D. none of these

Answer: B

z=12,..,n

otherwise



https://dl.doubtnut.com/l/_NxX9o6c2nReY
https://dl.doubtnut.com/l/_dnYCyV4DS4kr

° Watch Video Solution

28.The pdf of a curve X is

f(2) {%,0<w<4
x:

O <0 or >4

Then, P(X > 1) is equal to

A.0.2
B.0.3
C.04

D.0.5

Answer: D

o Watch Video Solution

29. If the pdfofacrvXis
3+ 2

f(z) 13 ,2 <z < 4=0. Otherwise,


https://dl.doubtnut.com/l/_dnYCyV4DS4kr
https://dl.doubtnut.com/l/_BYzsWNBjVswH
https://dl.doubtnut.com/l/_TG9n1MmGFFQG

then the Mathematical Exapectation of X is

A 83
27

5 20
- 83

.
23

38

D'E

Answer: A

° Watch Video Solution

30.If the p.df.of arv. X is
flz) =K.e % 0>00<z<o00
= 0, otherwise

Then, K =


https://dl.doubtnut.com/l/_TG9n1MmGFFQG
https://dl.doubtnut.com/l/_JoKq9O2nD7Ys

D. 26

Answer: C

° Watch Video Solution

31.If pdf.ofaacrv.Xis
f(z) =ae **, 2 >0,a>0
= 0, otherwise.

If P(0 < X < K) = 0.5,thenK=

A l loga
2

B. l log 2
a

C. l log 2
2

D. l loga
a

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JoKq9O2nD7Ys
https://dl.doubtnut.com/l/_MmLW0eDZ6T9V

32. The time (X) one has to wait for a bus at a downtown bus -stop has

the following Pd.f.

0,z <0
1
s(@z+1),0<z<1

f(z) = <
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IfA:0<x<2,B:1<xz<3

then the values of P(B|A) and P (A' N B') are ..

>
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D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vf5Gf7OnRvMd

33. A random variable X takes the values 0,1, 2, 3, ..., with prbability

1\° . .
PX(==z)=k(z+1) <g) , where kis a constant, then P(X = 0) is.

Answer: B

o Watch Video Solution

34. A random variate X takes the values O, 1, 2, 3 and its mean is 1.3. If
P(X =3) =2P(X = 1) and P(X = 2) = 0.3, then P(X = 0) is equal
to

A.01

B.0.2


https://dl.doubtnut.com/l/_0YQf2PCCbWM0
https://dl.doubtnut.com/l/_I6NnK3zSXEtF

C.03

D.04

Answer: D

° Watch Video Solution

35. If in a distribution each x is replaced by corresponding value of f(z),
then the probability of getting f(x), when the probability of getting

x;18p;, is.

B. f(p:)

“4(z)

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_I6NnK3zSXEtF
https://dl.doubtnut.com/l/_zdUFWSmYtH3P

36. If the range ot a random vaniabie X is 0,1,2,3, at

P(X =K) = <K3—: 1> afork > 0, then a equals

Al
"3
8. 2
9

¢

27

o 18

" 81

Answer: B

o Watch Video Solution

37. If X follows a binomial distribution with parameters n = 6 and p. If

A(P(X = 4)) = P(X = 2) ,then P =

B = N =


https://dl.doubtnut.com/l/_zdUFWSmYtH3P
https://dl.doubtnut.com/l/_WGWQ54T1KdFH
https://dl.doubtnut.com/l/_2323pkH5hFHd

N

O
W= o+

Answer: D

° Watch Video Solution

38. Seven chits are numbered 1 to 7. Four chits are drawn one by one with

replacment. The probability that the least number appearing on any

selected chitis 5is :

3\ 4
A | —
(7)
6\ 3
B.<7)
Hhx4x3
C.T

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_2323pkH5hFHd
https://dl.doubtnut.com/l/_734k2JjWZBg3

39. An unbiased die is thrown . X dentes the number on the face of the

die.Then E(x) wherex > 1is:

N[O o[ ot | w

Answer: C

o Watch Video Solution

40. Three numbers are chosen from 1to 20. Find the probability that they

are consecutive.

B- 190


https://dl.doubtnut.com/l/_734k2JjWZBg3
https://dl.doubtnut.com/l/_QDXdyoZawkBV
https://dl.doubtnut.com/l/_hqSQxxXDFlCd

Answer: B

° Watch Video Solution

41. Two cards are drawn from a well shuffled pack of 52 cards. The
probability that one is heart card and the other is a king is p, then the

value of 104pis__ .

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_hqSQxxXDFlCd
https://dl.doubtnut.com/l/_HvB00UZzINPp

42. A and B are two events such that P(AUB) = 0.5,P(AN B)

= 0.3, P(B) = 0.4 then P(A’

B’) =

oot g ofw o=

Answer: D

o Watch Video Solution

43. Given P(A U B) = 0.6, P(A N B) = 0.2, then probability of exactly

one of the event occurs is

A.03

B.0.2


https://dl.doubtnut.com/l/_HvB00UZzINPp
https://dl.doubtnut.com/l/_T90aAxoHHS04
https://dl.doubtnut.com/l/_Vc6zLq5vAJbp

C.04

D.0.8

Answer: C

° Watch Video Solution

44. From a group of 8 boys and 3 girls, a committee of 5 members to be
formed. Find the probability that 2 particular girls are included in the

committee.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Vc6zLq5vAJbp
https://dl.doubtnut.com/l/_K2SFHRQaRuNh

45.1f P (A) =0.8, P(B)=0.6, P(A N B) = 0.5, then P(B'|A)=

S N e ) ]

Answer: B

o Watch Video Solution

46. If two dice are thrown together . Then , the probability that the sum

of the numbers appearing on them is a prime number, is

Al/2
B.3/7

C.5/12



https://dl.doubtnut.com/l/_K2SFHRQaRuNh
https://dl.doubtnut.com/l/_gXLchSJamTjp
https://dl.doubtnut.com/l/_rWPOsHyReO8d

D.7/12

Answer: C

° Watch Video Solution

47. A four digit number is to be formed using the digits 1,2,3, 4, 5,6,7 (no

digit is being repeated in any number) . Then , the probability that it is

> 4000, is

A.3/2

B.1/2

c.4/7

D.3/7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rWPOsHyReO8d
https://dl.doubtnut.com/l/_g1x72jvUp0b9
https://dl.doubtnut.com/l/_CEVDnkLuaku8

48. Two coins are tossed simultaneously. Then, the value of E(X), where X

denotes the number of heads is

B.2

C.1

D.1.05

Answer: C

o Watch Video Solution

49. If P (A) =0.4,P(B)=0.8 and P(A N B) = 0.3 then the probability that
exactly one of them occurs is

A.0.2

B.0.4

C.0.6


https://dl.doubtnut.com/l/_CEVDnkLuaku8
https://dl.doubtnut.com/l/_L9yLYGgnvxBt

D. 0.1

Answer: C

° Watch Video Solution

50. An urn contains 4 black and 6 red balls. If two balls are drawn at
random from the urn without replacement jthen the probability that

both are black is

— = —_ o] =
|<'-»o 01|‘° cn|“‘ |

15

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_L9yLYGgnvxBt
https://dl.doubtnut.com/l/_WO2Tspzfd4V5
https://dl.doubtnut.com/l/_hv7JQxIxM6tg

51. Two fair coins are tossed .if X represents the number of tails obtained

then V(X)=

>
N

n
= W | w

Answer: D

° Watch Video Solution

lllustrative Examples

1.If a fair coin is tossed twice, find the probability that both outcomes are

the same.

° Watch Video Solution



https://dl.doubtnut.com/l/_hv7JQxIxM6tg
https://dl.doubtnut.com/l/_XqpTty8LuuZ9
https://dl.doubtnut.com/l/_31bTK6U2HDra

2. Three unbiased coins are tossed simultaneously. State the sample
space and mention the events A and B, where A is said to have occurred
when an outcome is 2 heads and 1 tail, B is said to have occurred when an

outcome is 2 or more heads. Find the probability of A U B.

° Watch Video Solution

3. If two unbiased dice are rolled, find the probability that the total score

is a prime number.

° Watch Video Solution

4. If two perfect dice are cast, find the probability that they show

consecutive numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_31bTK6U2HDra
https://dl.doubtnut.com/l/_yecMji1Ky259
https://dl.doubtnut.com/l/_L8iKxFSTaln5

5. If a card is drawn at random from a full pack of playing cards, find the

probability that it is a queen or a heart.

° Watch Video Solution

6. Two cards are drawn at random from a well-shuffled pack of 52 playing

cards. Find the probability that one is a spade and the other is a heart.

° Watch Video Solution

7.Three cards are drawn at random from a well-shuffled pack of 52 cards.

Find the probability that the cards contain at least 2 red cards.

° Watch Video Solution

8. From a bag containing 5 white, 3 black and 2 red balls, two balls are

drawn at random. Find the probability that both are white.

| e |


https://dl.doubtnut.com/l/_37nunPDVh5vB
https://dl.doubtnut.com/l/_jfAfOfqWkHAd
https://dl.doubtnut.com/l/_6uxp3yygr3hS
https://dl.doubtnut.com/l/_N2thLSbE75nT

l & Watch Video Solution J

9. An urn contains 6 black and an unknown number of = of yellow balls.
When two balls are drawn at random, the probability of both being black

is 5/26. Find x.

° Watch Video Solution

10. From a group of 5 men and 3 women, a committee of 4 persons is to
be selected randomly. Find the probability that there is a majority of (i)

men (ii) women.

° Watch Video Solution

1. A team of 5 is to be selected from 8 boys and 3 girls. Find the

probability that it includes two particular girls.

° Watch Video Solution



https://dl.doubtnut.com/l/_N2thLSbE75nT
https://dl.doubtnut.com/l/_9H3SwDvuWMfs
https://dl.doubtnut.com/l/_JpPQekoezvgj
https://dl.doubtnut.com/l/_sTCtbSAWNZy4

12.1f 9 boys and 5 girls are to be seated in a row, find the probability that

4 particular persons never sit together (not even two of them.)

° View Text Solution

13. If 8 boys and 2 girls are to be seated in a row for a photograph, find

the probability that the girls sit together.

° Watch Video Solution

14. If two fair dice are thrown, find the probability that the total score is a

one-digit number.

° Watch Video Solution

15. A room has 4 sockets for electric lamps. From a collection of 11 light

bulbs of which 6 are good, 4 bulbs are selected at random and put in the


https://dl.doubtnut.com/l/_sFLhUbEVOHwb
https://dl.doubtnut.com/l/_JljkptPkCU7C
https://dl.doubtnut.com/l/_BH32A2x5cdw5
https://dl.doubtnut.com/l/_L51Fed2Pq8YU

sockets. Find the probability that the room does not suffer from a

complete black-out.

° Watch Video Solution

16. If A and B are any two events of a sample space S that

2 1 2
— = 5 and P(AN B) = -, find P(4' N B").

b
=
|

° Watch Video Solution

17. If A and B are any two events of a sample space S such that

2 1
_ = 3 and P(AUB) = g find P(A"UB")

b
=
|

° Watch Video Solution

18. If A and B are any two events of a sample space S such that

P(A) = 0.698, P(B) = 0.439 and P(A N B) = 0.327, find P(ANB’)

° Watch Video Solution



https://dl.doubtnut.com/l/_L51Fed2Pq8YU
https://dl.doubtnut.com/l/_0mR1GpjGAQGV
https://dl.doubtnut.com/l/_rOR5Z1WY4LAc
https://dl.doubtnut.com/l/_wRNL5a5UgKhI

2
19. The probability that a person will get an electric contact is T and the
4
probability that he will not get plumbing contract is = If the probability

2
of getting at least one contract is 3 what is the probability that he will

get both.

° Watch Video Solution

20. A ticket is drawn at random from 30 tickets numbered from 1 to 30.
Find the probability that the number on the ticket drawn is divisible by 5

or 6.

° Watch Video Solution

21. If A and B are any two events of a sample space S such that

P(A) = 0.8, P(B) = 0.6 and P(ANB) = 0.5, find P(AUB) and P

° Watch Video Solution



https://dl.doubtnut.com/l/_wRNL5a5UgKhI
https://dl.doubtnut.com/l/_3rEJhFWF7vE4
https://dl.doubtnut.com/l/_ddbeyquvtgGz
https://dl.doubtnut.com/l/_I9CFz4ybHlj2

22. If A and B are any two events in a sample space S such that

2 3 2
P(4) = 3,P(B) = ¢ and P(ANB) = , find P(A'NB’)

° Watch Video Solution

23. If A and B are independent events of a sample space S such that

P(AUB) = 0.7 and P(AN B) =0.2, find P(A) and P(B)

° Watch Video Solution

24. If A, B, C are three independent events such that
1
P(ANB) =

1 1
P(BNC) = 3 and P(CN4) = ¢, find P(4), P(B

|

° Watch Video Solution

25. Three purses respectively contain 1 silver and 3 copper, 2 silver and 4

copper, 3 silver and 1 copper coin respectively. If a coin is taken from one


https://dl.doubtnut.com/l/_ajICrae0aaoI
https://dl.doubtnut.com/l/_IBmNoVIvtXFH
https://dl.doubtnut.com/l/_dHq3gZsY4Kz3
https://dl.doubtnut.com/l/_0zESuDjxeGyV

of the three purses selected at random, find the probability that it is a

silver coin.

o Watch Video Solution

26. A box contains 8 tickets bearing numbers 1,2,3,5,7,8,9,10. A ticket is
drawn at random and kept aside. Then a second ticket is drawn from the

box. Find the probability that both the tickets drawn show odd numbers.

o Watch Video Solution

27.Bag - A contains 3 green and 5 red balls, and Bag - B contains 2 green
and 7 red balls. A ball is selected at random from Bag - A and transferred
to Bag - B. Then a ball is drawn at random from Bag - B. Find the

probability that it is a green ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_0zESuDjxeGyV
https://dl.doubtnut.com/l/_HIPSCwKkkpTn
https://dl.doubtnut.com/l/_9ZNB0opzkSnY

28. The probability of A winning a race is 1/2, and that for B is 1/3. Find the
probability that

both win

° Watch Video Solution

29. The probability of A winning a race is 1/2, and that for B is 1/3. Find the
probability that

only A wins

° Watch Video Solution

30.The probability of A winning a race is 1/2, and that for B is 1/3. Find the
probability that

only B wins

° Watch Video Solution



https://dl.doubtnut.com/l/_urtmx5nFzpHP
https://dl.doubtnut.com/l/_htdlJRpBem5x
https://dl.doubtnut.com/l/_O1FkLlKiyjhn
https://dl.doubtnut.com/l/_uGluTo1bCfVw

31. The probability of A winning a race is 1/2, and that for B is 1/3. Find the
probability that

only one of them wins

° Watch Video Solution

32. The probability of A winning a race is 1/2, and that for B is 1/3. Find the
probability that

none of them wins

° Watch Video Solution

33. The probability of A winning a race is 1/2, and that for B is 1/3. Find the
probability that

at least one of them wins.

° Watch Video Solution



https://dl.doubtnut.com/l/_uGluTo1bCfVw
https://dl.doubtnut.com/l/_sBPsTTsQ0HDD
https://dl.doubtnut.com/l/_anaiJt1aNJAJ

34. A speaks truth in 80% of the cases while B speaks truth in 60% of the
cases. Find the probability that they will contradict each other while

stating the same fact.

° Watch Video Solution

35. Three urns respectively contain 3 white and 2 black, 2 white and 3
black, and 1 white and 4 black balls. One ball is drawn from each urn. Find

the probability that the selection contains 1 black and 2 white balls.

° Watch Video Solution

36. A bag contains 3 white and 4 black balls. One ball is drawn and kept
aside. Then one white and one black balls are added to the bag. Now, one
ball is drawn again. Find the probability that the second ball drawn is

white.

° Watch Video Solution



https://dl.doubtnut.com/l/_JBd9jV5eHfPO
https://dl.doubtnut.com/l/_sySyg74wheQp
https://dl.doubtnut.com/l/_hIIpeQW8GaD1

37. Two urns respectively contain 3 white, 7 red, 15 black balls and 10
white, 6 red, 9 black balls. One ball is taken from each urn. Find the

probability that both be of the same colour.

o Watch Video Solution

38. A company produces steel pipes in three plants with daily production
volumes of 500, 1000 and 2000 units respectively. It is known that the
fractions of defective outputs produced by the three plants are
0.005, 0.008 and 0.010 respectively. If a pipe selected from a day's total
production is found to be defective, find the probability that it came from

the first plant.

o View Text Solution

39. A class contains 10 men and 20 women, among which half the men
and half of the women have brown-eyes. Find the probability that a

person, chosen at random, is a man or has brown eyes.


https://dl.doubtnut.com/l/_q4O4sQ5mcC5t
https://dl.doubtnut.com/l/_FjZBoT1ONd9y
https://dl.doubtnut.com/l/_4IXGkz0b1t2P

° Watch Video Solution

40. If a die rolled 3 times, what is the probability of number 5 coming up

at least once.

° Watch Video Solution

41. A speaks truth in 60% cases and 'B' in 70 % cases. In what
percentages of cases are they likely to contradict each other in stating

the same fact?

° Watch Video Solution

42.Three groups of workers contain 3 men and one woman, 2 men and 2
women and 1 man and 3 women respectively. One worker is selected at
random from each group. What is the probability that the group selected

consists of 1 man and 2 women?

. l


https://dl.doubtnut.com/l/_4IXGkz0b1t2P
https://dl.doubtnut.com/l/_GM4d6HeuQ0Ct
https://dl.doubtnut.com/l/_Z3YVhWDSNPT2
https://dl.doubtnut.com/l/_kIqL82o8prW5

| ¥ vvatch video sSolution J

43. A point is chosen at random inside a circle. Find the probability that

the point is closer to the centre of the circle than to its circumference.

° Watch Video Solution

44, v31

° Watch Video Solution

45. There are two bage. One bag contains 4 white and 2 black balls.
Second bag contains 5 white and 4 black balls. Two balls are transferred
from first bag to second bag. Then one ball is taken from the second bag.

Find the probability that it is a white ball.

° Watch Video Solution



https://dl.doubtnut.com/l/_kIqL82o8prW5
https://dl.doubtnut.com/l/_tQW92SZlDn7I
https://dl.doubtnut.com/l/_WjFSJDLBmPvZ
https://dl.doubtnut.com/l/_zA7Dh3eBJt8i

46. A bag contains 8 red and 5 white balls. Two successive drawings of 3
balls are made such that (i) balls are replaced before the second draw, (ii)
the balls are not replaced before the second draw. Find the probability

that the first drawing will give 3 white and second 3 red balls.

o View Text Solution

47.Three machines A, B, C produce respectively 50%, 30%, and 20% of the
total no. of items of a factory. The % of defective outputs of these
machines is 3%, 4%, 5% respectively. If an item is selected at random, (i)

what is the probability that it is defective?

o Watch Video Solution

48. Four digits 1, 2, 4, and 6, are selected at random to form four digit
number. What is the probability that the number so formed, would be

divisible by 4?7 (Repetition is allowed.)

| o WMIladk L\ dan Ol ikl mn



https://dl.doubtnut.com/l/_nFCKoF6avK97
https://dl.doubtnut.com/l/_9bCfzuHTPyTP
https://dl.doubtnut.com/l/_aL6ztuuDP2oB

& __yvalllil VIUCU JViutuiviil )

49. Anita and Binita stand in a line with 7 other people. What is the

probability that there are 4 persons between them?

o Watch Video Solution

50. The odds in favour of one student passing at a test are 3: 7 The odds
against another student passing at are 3:5 What are the odds that (i)
both pass, (ii) only the first student passes, (iii) at least one of them will

pass.

o Watch Video Solution

51. Out of 1000 persons born only 800 reach that age of 10, and out of
every 1000 who reach the age of 10,850 reach the age 40, out of every
thousand who reach the age of 40, 25 die in one year. What is the

probability that a person would attain the age of 417

| e |


https://dl.doubtnut.com/l/_aL6ztuuDP2oB
https://dl.doubtnut.com/l/_GYkIXWNIgD1Q
https://dl.doubtnut.com/l/_UgDWHVoNH10q
https://dl.doubtnut.com/l/_oCZr8Kc60yst

| &J Watch Video Solution

Multiple Choice Questions

1. Set of all possible outcomes of an experiment is called its

A. universal set
B. sample space
C. partition

D. domain

Answer: B

° Watch Video Solution

2.1f S is the sample space of an experiment, than S must contain

A. only a finite number of elements


https://dl.doubtnut.com/l/_oCZr8Kc60yst
https://dl.doubtnut.com/l/_TEOxUUWojuPi
https://dl.doubtnut.com/l/_uZ1eKAtJQTQt

B. infinitely many elements

C. at least 2 elements

D. 36 elements

Answer: C

° Watch Video Solution

3.If S1, Sy are the sample spaces of an experiment at the first two trials,

then

AS =5,

B.S; C 5,

C.S, C S

D.S; < .5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uZ1eKAtJQTQt
https://dl.doubtnut.com/l/_ycwOUqKLiHIP

4.If A an event in a sample space S, then

Answer: C

o Watch Video Solution

5. If P(A) denotes the probability of an event, then

A—1< P(4) <1
B.0 < P(4) < 1
C.—1<P(A) <0

D.—oo < P(4) < >


https://dl.doubtnut.com/l/_ycwOUqKLiHIP
https://dl.doubtnut.com/l/_rO8j1TtLriKU
https://dl.doubtnut.com/l/_26QSoyfVZrCO

Answer: B

° Watch Video Solution

6. Which of the following subsets of a sample space S represents an

impossible event?

A {0}
B.¢’
C.é

D.S

Answer: C

° Watch Video Solution

7. Probability of an impossible event


https://dl.doubtnut.com/l/_26QSoyfVZrCO
https://dl.doubtnut.com/l/_hVC0isKu8Cyi
https://dl.doubtnut.com/l/_Y6Nvvcav9vNG

C.1

D.O

Answer: D

o Watch Video Solution

8. Which of the following subsets of a sample space S represents a certain

(sure) event?

AN

B.S'

C.¢

D.S

Answer: D



https://dl.doubtnut.com/l/_Y6Nvvcav9vNG
https://dl.doubtnut.com/l/_tTKnO6qUbSjh

| ° Watch Video Solution

9. The probability of a certain event is O (b) 1 (c) greater than 1 (d) less

than O

C.1

D.O

Answer: C

° Watch Video Solution

10. A coin is tossed once. Write its sample space.

A {H, H}

B. {T, T}


https://dl.doubtnut.com/l/_tTKnO6qUbSjh
https://dl.doubtnut.com/l/_SilSNlu3HqCX
https://dl.doubtnut.com/l/_2gVcMC7bSJze

c.{1,2,3,4,5,6}

D. {H, T}

Answer: D

° Watch Video Solution

11. If one coin is tossed twice (or two coins tossed once), then the sample
space is

A {HH,TT}

B.{HT,TH}

C.{HH,HT,TH,TT}

D. {2H, 2T}

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2gVcMC7bSJze
https://dl.doubtnut.com/l/_efZRaouFBv0N
https://dl.doubtnut.com/l/_gdCS4AVfhOol

12. If a coin is tossed three times (or three coins are tossed together),
then describe the sample space for this experiment.
A{HHH,TTT}
B.{HHH,TTT,HTH,THT}
C{HHH,HHT,HTH,THH,TTH,THT,HTT,TTT}

D.{3H, 3T

Answer: C

o Watch Video Solution

13.If one coin is tossed n times (or n coins tossed once), then the number

of elements in the sample space is

A. 'n2

B.2"

C.2n


https://dl.doubtnut.com/l/_gdCS4AVfhOol
https://dl.doubtnut.com/l/_5YSzwrZwA5rY

D. 22"

Answer: B

° Watch Video Solution

14. If one die is rolled once, then the sample space is

A{H, T}

B.{H,1,T,?2}

c.{1,2,3,4,5,6}

D.{a, b, c}

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5YSzwrZwA5rY
https://dl.doubtnut.com/l/_tAOeqeiQoZRy

15. If one die is rolled n times (or n dice rolled once), then the number of

elements in the sample space is

A.6"

B.6n

D. 36

Answer: A

o Watch Video Solution

16.If s is the total score when two dice are thrown once then

C.2<s<6

D.2<s< 12


https://dl.doubtnut.com/l/_QVUR7zNw5J5R
https://dl.doubtnut.com/l/_UGf65y4SnaKG

Answer: D

° Watch Video Solution

17. Indicate the probability of the following events

an even number, in one throw of one die.

Answer: B

° Watch Video Solution

18. If one die is rolled then find the probability of each of the following

events



https://dl.doubtnut.com/l/_UGf65y4SnaKG
https://dl.doubtnut.com/l/_aczXjg2YhFlG
https://dl.doubtnut.com/l/_LTwzi9TZI8Th

Getting an odd number .

n w
N S N B S

o

Answer: D

° Watch Video Solution

19. Indicate the probability of the following events

a prime number, in one throw of one die.

olw U Wk =


https://dl.doubtnut.com/l/_LTwzi9TZI8Th
https://dl.doubtnut.com/l/_G66gfoiQY6dU

Answer: A

° Watch Video Solution

20. Indicate the probability of the following events

a number which is both even and odd, in one throw of one die.

Answer: A

° Watch Video Solution

21. Indicate the probability of the following events

a natural number, in one throw of one die.


https://dl.doubtnut.com/l/_G66gfoiQY6dU
https://dl.doubtnut.com/l/_oTLcs6hJ5c0X
https://dl.doubtnut.com/l/_7hwgisXYr0nd

Answer: D

o Watch Video Solution

22.Indicate the probability of the following events

a score greater then 2, in one throw of one die.

S| = W Wk =

Answer: C



https://dl.doubtnut.com/l/_7hwgisXYr0nd
https://dl.doubtnut.com/l/_xJzJzymOgWwk

| ° Watch Video Solution

23. Indicate the probability of the following events

a multiple of 3, in one throw of one die.

S|~ Wl wWRk N

Answer: B

° Watch Video Solution

24.1f 1 coin is tossed three times, Indicate the probability of the following

events

two or more heads.


https://dl.doubtnut.com/l/_xJzJzymOgWwk
https://dl.doubtnut.com/l/_GVeUfWDqvUW4
https://dl.doubtnut.com/l/_4hWla3hV2BFW

U= o|lw Wk =

Answer: A

o Watch Video Solution

25.1f 1 coin is tossed three times, Indicate the probability of the following

events

second is not a head.

Wl 0N W~ o=


https://dl.doubtnut.com/l/_4hWla3hV2BFW
https://dl.doubtnut.com/l/_lcN1F59wzQZg

Answer: A

° Watch Video Solution

26.1f 1 coin is tossed three times, Indicate the probability of the following

events

at least one head.

0|~ 0| oo|w N+

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lcN1F59wzQZg
https://dl.doubtnut.com/l/_XtvxSVCSUlmX

27.1f 1 coin is tossed three times, Indicate the probability of the following

events

at least one tail.

oot o|w |3 oo =

Answer: B

o Watch Video Solution

28.1f 1 coin is tossed three times, Indicate the probability of the following

events

at least two heads / tails.

AL
i


https://dl.doubtnut.com/l/_mBGKHmFpb31N
https://dl.doubtnut.com/l/_KTAbnCjZfGsW

o N
w|N = o] w

Answer: C

° Watch Video Solution

29.1f 1 coin is tossed three times, Indicate the probability of the following

events

all three heads .

| = 00| oo|w oo~

Answer: A

[ - 1



https://dl.doubtnut.com/l/_KTAbnCjZfGsW
https://dl.doubtnut.com/l/_z8jPi1RfY4tL

| @J Watch Video Solution J

30. If 2 dice are thrown once, Indicate the probability of the following
events

total score is minimum.

A —
6

1

1

12
1
8
1

—

D. —
3

[=>}

Answer: D

° Watch Video Solution

31. If 2 dice are thrown once, Indicate the probability of the following
events

total score is maximum.


https://dl.doubtnut.com/l/_z8jPi1RfY4tL
https://dl.doubtnut.com/l/_cyjI2EsmuoCA
https://dl.doubtnut.com/l/_dVbgoXRPnEmo

Answer: A

o Watch Video Solution

32. If 2 dice are thrown once, Indicate the probability of the following
events

total score is 9 or 11.

oot o+ %g|‘._“ g|,_.


https://dl.doubtnut.com/l/_dVbgoXRPnEmo
https://dl.doubtnut.com/l/_vyTwmz6rJT6A

Answer: C

° Watch Video Solution

33. If 2 dice are thrown once, Indicate the probability of the following
events

total score is at least 11.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vyTwmz6rJT6A
https://dl.doubtnut.com/l/_EZIjdPseV6FD

34. If 2 dice are thrown once, Indicate the probability of the following
events

total score is 7 or 10.

Answer: D

o Watch Video Solution

35. If 2 dice are thrown once, Indicate the probability of the following
events

total score is a prime number.


https://dl.doubtnut.com/l/_ofiUP4PYKpqf
https://dl.doubtnut.com/l/_2PmaZuAzZljE

Answer: B

° Watch Video Solution

36. If 2 dice are thrown once, Indicate the probability of the following
events

total score is a perfect square.

o|lot ©| g|m g|\1

Answer: A

[ - 1


https://dl.doubtnut.com/l/_2PmaZuAzZljE
https://dl.doubtnut.com/l/_emLnQ6CBVMom

| @J Watch Video Solution J

37. If 2 dice are thrown once, Indicate the probability of the following

events

total score is a multiple of 3.

W= N = ;',_. S"“

Answer: D

° Watch Video Solution

38. If 2 dice are thrown once, Indicate the probability of the following

events

total score is either a perfect square or an even number.


https://dl.doubtnut.com/l/_emLnQ6CBVMom
https://dl.doubtnut.com/l/_KHMZLkE8DfFG
https://dl.doubtnut.com/l/_KNdZ0YCJrbIg

|: o'_‘o|\1 ol |~

—
oo

Answer: D

o Watch Video Solution

39. If 2 dice are thrown once, Indicate the probability of the following

events

a perfect square or a prime number.

11
8

—_ =

8
T
18

5

18


https://dl.doubtnut.com/l/_KNdZ0YCJrbIg
https://dl.doubtnut.com/l/_jeXF8hElRFRp

Answer: A

° Watch Video Solution

40. If 2 dice are thrown once, Indicate the probability of the following

events

a perfect square or a multiple of 3.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jeXF8hElRFRp
https://dl.doubtnut.com/l/_jPwka6BXsDCd

41. If 2 dice are thrown once, Indicate the probability of the following

events
total score is greater then 9 or an even number.
A2
12
5
9
5
7
b~
11

Answer: B

o Watch Video Solution

42. If 2 dice are thrown once, Indicate the probability of the following

events

total score is 7 or product of scores is 12.

A5
"9


https://dl.doubtnut.com/l/_JibQIyCsHGzL
https://dl.doubtnut.com/l/_lQ9iskbTtPj0

N @

o
IN = ot
2 Slon

Answer: D

o Watch Video Solution

43. Two dice are thrown . Find the probability of the following events
The number on the upper face of the second die is greater than the

number on the upper face of the first die

Answer: A

[ -


https://dl.doubtnut.com/l/_lQ9iskbTtPj0
https://dl.doubtnut.com/l/_i7UthWuBqJYl

| @J Watch Video Solution J

44. If 1 card is drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

card is a king / queen / jack / an ace

Answer: C

o Watch Video Solution

45. If 1 card is drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

card is a diamond / heart / spade / club.


https://dl.doubtnut.com/l/_i7UthWuBqJYl
https://dl.doubtnut.com/l/_JTx9fnC5Ufjv
https://dl.doubtnut.com/l/_kecwTjOWUWSl

Blw R Wk A=

Answer: A

o Watch Video Solution

46. If 1 card is drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

card is a diamond or a king


https://dl.doubtnut.com/l/_kecwTjOWUWSl
https://dl.doubtnut.com/l/_QUnf5DYfRuih

Answer: C

° Watch Video Solution

47. If 1 card is drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

card is an ace or a queen.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QUnf5DYfRuih
https://dl.doubtnut.com/l/_nSZPyNXkVEKc

48. A card is drawn ar random from a well shuffled pack of 52 playing
cards. Find the probability of the events that the card drawn is

A face card .

13

1
17

" 13

16
17

Answer: A

o Watch Video Solution

49. If 2 cards are drawn at random from a full deck of 52 playing cards,
Indicate the probability of the following events

both are hearts / diamonds / clubs / spades.


https://dl.doubtnut.com/l/_pZ872KliHc0d
https://dl.doubtnut.com/l/_0VVLbavqmcWq

Answer: B

° Watch Video Solution

50. If 2 cards are drawn at random from a full deck of 52 playing cards,
Indicate the probability of the following events

both are from the same suit.

Answer: A

[ - 1


https://dl.doubtnut.com/l/_0VVLbavqmcWq
https://dl.doubtnut.com/l/_dhG41wogvvqQ

| @J Watch Video Solution J

51. If 2 cards are drawn at random from a full deck of 52 playing cards,
Indicate the probability of the following events

both are kings / queens / jacks / aces.

1
1122

1
221

1
1212

b 120
1221

Answer: B

° Watch Video Solution

52.If 2 cards are drawn at random from a full deck of 52 playing cards,
Indicate the probability of the following events

one is a king and the other a queen.


https://dl.doubtnut.com/l/_dhG41wogvvqQ
https://dl.doubtnut.com/l/_rpIfABksQy4v
https://dl.doubtnut.com/l/_OLrngDDqIwfC

Answer: D

o Watch Video Solution

53.If 2 cards are drawn at random from a full deck of 52 playing cards,
Indicate the probability of the following events

they are king and queen of the same suit.

2
663
1
1663
2
1636
661

D.%


https://dl.doubtnut.com/l/_OLrngDDqIwfC
https://dl.doubtnut.com/l/_f5LceG2xY0rY

Answer: A

° Watch Video Solution

54.If 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

all are hearts / diamonds / spades / clubs.

11

A 530
, 1
"85

C—
850

b 13
" 85

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_f5LceG2xY0rY
https://dl.doubtnut.com/l/_hTbTN3h7IIBb

55.If 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

all are from the same suit.

4
850
22
425
22

C. —
85

b 63
85

Answer: B

o Watch Video Solution

56. If 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

two kings and one ace.

A 6
" 5525


https://dl.doubtnut.com/l/_PWfnfxHIKiJc
https://dl.doubtnut.com/l/_25CJCnPUU0Do

B 6
" 5255

.8
' 2555

b 6
" 555

Answer: A

o Watch Video Solution

57.1f 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

a king, a queen and a jack.

6
" 5525

61
" 5525
16
" 5525
66

> 5525

Answer: C

[ - |


https://dl.doubtnut.com/l/_25CJCnPUU0Do
https://dl.doubtnut.com/l/_Uq52k41vvsFR

Watch Video Solution J

58. If 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

King, queen and jack, all from the same suit.

4

" 5525
B 1
" 5525

2
" 5525

b 3
" 5525

Answer: B

° Watch Video Solution

59. If 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

all are red / black.


https://dl.doubtnut.com/l/_Uq52k41vvsFR
https://dl.doubtnut.com/l/_ib4BSnCLxiRG
https://dl.doubtnut.com/l/_PmXq4iIGCBI8

2
A 17
2
7
3
C
14
17

Answer: A

o Watch Video Solution

60. If 3 cards are drawn at random from a full pack of 52 playing cards,
Indicate the probability of the following events

all of the same colour.


https://dl.doubtnut.com/l/_PmXq4iIGCBI8
https://dl.doubtnut.com/l/_cRsGg9z7hSlH

Answer: C

° Watch Video Solution

61. If 1 ball is drawn (at radnom) from 5 red. 11 white and 7 black balls,

then probability that it is white is

A 12
13

B 11
023

c 13
" 21

b 10
23

Answer: B

° Watch Video Solution

62. If a ball is drawn from 6 red, 5 blue, 3 white and 4 black balls, then

probability that it is red or black is


https://dl.doubtnut.com/l/_cRsGg9z7hSlH
https://dl.doubtnut.com/l/_pxGR6oBpg3ze
https://dl.doubtnut.com/l/_5bhN2ccmWpoI

Answer: D

o Watch Video Solution

63. If 1 ball is taken from 6 black, 4 white and 3 yellow balls, then

probability that it is yellow or white is

Answer: A



https://dl.doubtnut.com/l/_5bhN2ccmWpoI
https://dl.doubtnut.com/l/_4BhiSXjEe2QJ

| ° Watch Video Solution

64. If 1 ball is taken from 7 red, 5 blue, 4 white and 4 black balls, then

probability that it is blue or black is

N A N~ | w
| o|»—lo|“D l

Answer: B

° Watch Video Solution

65. If 1 ball is drawn from 7 red, 5 white and 8 green balls, then probability

that it is not white is

A1
2


https://dl.doubtnut.com/l/_4BhiSXjEe2QJ
https://dl.doubtnut.com/l/_f0xO0UGWspib
https://dl.doubtnut.com/l/_IEt0kWR7Wcu9

o N
W~ | w w|N

Answer: C

° Watch Video Solution

66. If 2 balls are drawn at random from 4 white, 2 black and 3 red balls,

then probability that one is white and the other black, is

O
©|w V|9 YN Yk

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IEt0kWR7Wcu9
https://dl.doubtnut.com/l/_fyUtAzbsqiNL

67. If 2 balls are drawn from 4 white and 6 black balls, then probability

that both are of the same colour is

Wl Wi = =
= el 2o 5[

Answer: A

o Watch Video Solution

68. If 3 balls are drawn from 6 white and 9 black balls, the probability that

all of them are black is


https://dl.doubtnut.com/l/_fyUtAzbsqiNL
https://dl.doubtnut.com/l/_vxPMWvnY96hf
https://dl.doubtnut.com/l/_Upr7yx6hCCLe

12
75

14
65

Answer: B

° Watch Video Solution

69. If 2 gloves are drawn from 4 pairs of gloves, then probability that both

are for the same hand is

ENTEESEEEN (GUREEN § I CREEN =

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Upr7yx6hCCLe
https://dl.doubtnut.com/l/_yRs9FAsZ1QSv
https://dl.doubtnut.com/l/_Q29eJptjQvTe

70.1f 5 boys and 3 girls are to be seated on chairs arranged in a row, then

probability that no two girls sit on adjacent chairs is

o oW

o
0|3 = co| Ot Co| W
N 2lon @l

Answer: C

o Watch Video Solution

71. If 8 boys and 6 girls sit in a row, then probability that all girls are

together is

A 3
" 999

B 3
" 1000

c 3
" 1001


https://dl.doubtnut.com/l/_Q29eJptjQvTe
https://dl.doubtnut.com/l/_5upuUpZSKyf6

Answer: C

° Watch Video Solution

72. What is the probability that a leap year selected at random contains

53 Sundays is

A
365

B2
7

2
" 365

b 363
" 365

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5upuUpZSKyf6
https://dl.doubtnut.com/l/_9iSfH8zZUB6L

73. The probability that a non-leap your selected at random will contain

53 Sunday is

Nl NR Nl g ot

Answer: C

o Watch Video Solution

74. A committee of 4 boys and 3 girls is chosen from 8 boys and 5 girls.

One of the boys is a brother of one of the girls. Probability that both are

in the committee is

A.0.3

B.0.4


https://dl.doubtnut.com/l/_MOLqfWK5fdMa
https://dl.doubtnut.com/l/_mc1aIEyNXT7y

C.0.5

D.0.8

Answer: A

° Watch Video Solution

75. A committee of 3 persons is chosen from 4 men and 2 women.

Probability that it includes at least one person of either sex is

N w >

O
ol | w Wl N =

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_mc1aIEyNXT7y
https://dl.doubtnut.com/l/_iaV0aV1ljzri
https://dl.doubtnut.com/l/_p3LPJHVPCGAD

2 1
76.1f P(4) = = and P(B’) = 3, then P(4’)+ P(B) =

A 21
" 29

B, >
129

c 29
" 21

D29
-8

Answer: C

° Watch Video Solution

77.1f 2 dice are thrown, then probability that total score is greater then 4

is



https://dl.doubtnut.com/l/_p3LPJHVPCGAD
https://dl.doubtnut.com/l/_DprFr5e2GaXV

Answer: B

° Watch Video Solution

78.1f 2 dice are thrown, then probability that total score is at most 10 is

A 11
T 12

BQ
" 20

c 19
" 20

11

D. —
20

Answer: A

° Watch Video Solution

79. Three electric bulbs are chosen at random from 15 bulbs of which 5

are defective. The probability that atleast one is defective is


https://dl.doubtnut.com/l/_DprFr5e2GaXV
https://dl.doubtnut.com/l/_oMER1sZOpkbd
https://dl.doubtnut.com/l/_gm1SXmvM2hnY

Answer: C

o Watch Video Solution

80. If 3 bulbs are selected from 12 bulbs of which 6 are good, then

probability that at least one of them is good is

Answer: B



https://dl.doubtnut.com/l/_gm1SXmvM2hnY
https://dl.doubtnut.com/l/_sJ1cG2Rn2PzK

| ° Watch Video Solution

8l. If

5 1 1
P(AUB) = E,P(AHB) =3 and P(B’) = 3 then P(A) =

NlR o R|w ok~

Answer: D

° Watch Video Solution

82. If

23 1 2
P(AUB) = %,P(AHB) =5 and P(A’) = 3 then P(B) =

A1
4


https://dl.doubtnut.com/l/_sJ1cG2Rn2PzK
https://dl.doubtnut.com/l/_ul1bCLulMBCr
https://dl.doubtnut.com/l/_HTYpe6csBFi7

N @

o
[T Y oo| =
Sle 2o o

Answer: A

° Watch Video Solution

If

1 8
3 P(B) = 7 and P(AUB) = =, than P(A'UB’) =

g o= ol N

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HTYpe6csBFi7
https://dl.doubtnut.com/l/_TvWbAwIsLGWZ

If

P(A) = %,P(B) = g and P(AUB) = %, than P(A’UB’) =
AL
12
B.
4
cs
8
D. -
12
Answer: C

o Watch Video Solution

85. If
1 1 7 ’ s
P(4) = 5, P(B) =  and P(ANB) = 4z, than P(4'NB’) =
N
"5
5 3
"4


https://dl.doubtnut.com/l/_TvWbAwIsLGWZ
https://dl.doubtnut.com/l/_468gvF3REiBY
https://dl.doubtnut.com/l/_WQIrRxssZDDm

N

O
ol o+

Answer: B

o Watch Video Solution

If

3 1
P(A’) = 3, P(B) = 7 and P(ANB) = 5, than P(A'NB’) =

A
2

B

N

1
12
1
4
1
8
5
D.E

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_WQIrRxssZDDm
https://dl.doubtnut.com/l/_1wv8ARLqol8E
https://dl.doubtnut.com/l/_h8EiriR88SfT

87. If
P(A) =0.5,P(B) =0.4 and P(ANB) =0.2, than P(ANB’) and [
are respectively

A.0.1,0.2

B.0.2,0.1

C.0.2,0.3

D.0.3,0.2

Answer: D

o Watch Video Solution

1 2
8.1 P(4) =  and P(B) = P(AUB) = 2, than P(A’N B)

w
Wl gk o=


https://dl.doubtnut.com/l/_h8EiriR88SfT
https://dl.doubtnut.com/l/_4dzSMqZZlWw7

| =

Answer: D

° Watch Video Solution

8. If A,B are mutually exclusive events such that

3 1
P(AUB) = 5 and P(A') = 3, then P(B') =

o|w A|w Wl N

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4dzSMqZZlWw7
https://dl.doubtnut.com/l/_bymxFRgQy9RY

90. If A,B are mutually exclusive events such that
5 1
P(AUB) = 5 and P(B) = 3 then P(A’) =
A 1
2
8 1
3
c 1
4
b 5
18
Answer: A
o Watch Video Solution
91. If A,B are mutually exclusive events such that
1 1
P(A) = 3 and P(B) = 2 then P(A'’NB’) =


https://dl.doubtnut.com/l/_jHxrfnrFuzY4
https://dl.doubtnut.com/l/_uoXxlhfE0gKm

Answer: B

° Watch Video Solution

92. If A,B are mutually exclusive events such that

1
P(A) = 5 and P(B) = 5, then P(A’UB’) =

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uoXxlhfE0gKm
https://dl.doubtnut.com/l/_2KRapx94rvFn

93. One ticket is drawn from 100 tickets, numbered from 1 to 100.

Probability that the number on it is a multiple of 50or 7 is

0
) b oo oo
01|“1 01|°° | |

Answer: C

o Watch Video Solution

94. If 2 dice are thrown, then probability that total score is neither 7 nor

Mis

©| 0 © [
I | < c'Q|\,


https://dl.doubtnut.com/l/_KDPUJFZWL7Lq
https://dl.doubtnut.com/l/_A468BDKbAmSx

Answer: B

° Watch Video Solution

95. If
P(A) =0.3, P(B) = 0.4 and P(A/B) = 0.32,then P(A U B) and P(E
are respectively

A.0.572, 0.427

B.0.427, 0.572

C.0.5,0.6

D. 0.275, 0.742

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_A468BDKbAmSx
https://dl.doubtnut.com/l/_TjnRJKzscEmQ
https://dl.doubtnut.com/l/_B1ufW7fzoBN2

96. If
P(A) = 0.8, P(B) = 0.6 and P(AU B) = 0.9, then P(A/B) and P(B,

are respectively

Az, 2
2’ 6
g2 L
"8’ 2
23
6’ 8
p.> 2
577
Answer: C

o Watch Video Solution

1 1

then P(AU B) =

, where A, B are mutually exclusive,

>
Wl o ot

@


https://dl.doubtnut.com/l/_B1ufW7fzoBN2
https://dl.doubtnut.com/l/_0rKglVPlAQeJ

o= o w

Answer: A

o Watch Video Solution

1

1
98.If P(A) = 3 and P(B) = 3 where A, B are independent, then

P(AUB) =

ol | w Wl N =

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0rKglVPlAQeJ
https://dl.doubtnut.com/l/_KVfrcPIBwkmF
https://dl.doubtnut.com/l/_dWrnfDwLtBUG

99.1f A’, B’ are complementary events of two independent events A, B,
then P(AU B) =

A.1—- P(A)P(B’)

B.1— P(A’)P(B)

C.1-P(A")P(B’)

D.P(A’) + P(B’)

Answer: C

o Watch Video Solution

100. A die is rolled. If the outcome is an odd number, what is the

probability that it is prime?

Al

Bl w w|


https://dl.doubtnut.com/l/_dWrnfDwLtBUG
https://dl.doubtnut.com/l/_LFgc8FBBAvmq

Answer: B

° Watch Video Solution

101. Two fair dice are thrown. If the two numbers turned up are different,

then probability that their sum is even is

g U= W= W

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_LFgc8FBBAvmq
https://dl.doubtnut.com/l/_H393ykVVTKbY

1 1
102. Probability of A winning a race is T and that for B is 1 Probability

that neither should win is

-

5

8. >

5

=

5
. —

20
Answer: B

o Watch Video Solution

103. A problem on mathematics is given to three students whose chances

of solving it are 1/2, 1/3 and 1/4, respectively, find the probability that the

problem will be solved.

Wl o=


https://dl.doubtnut.com/l/_1smgl9HuHZB2
https://dl.doubtnut.com/l/_trUL8gKt9ZUh

ol | w

Answer: C

o Watch Video Solution

104. If A and B are mutually exclusive events, then

A. exhaustive

B. dependent

C.independent

D. impossible

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_trUL8gKt9ZUh
https://dl.doubtnut.com/l/_yH48tSKk0x59

105. A person is known to speak the truth 4 times out of 5. He throws a

die and reports that it is an ace. The probability that it is actually an ace,

is

Ol ©|lw Wl O -

Answer: D

o Watch Video Solution

106. A bag A contains 2 white and 3 black balls. Another identical bag B
contains 3 white and 4 black balls. First a bag, and then a ball from it, are

selected at random. If the ball drawn is black, then probability that it is

drawn from bag B is


https://dl.doubtnut.com/l/_kqwas4nYgLJD
https://dl.doubtnut.com/l/_5JQ7r3PRzUL2

Answer: C

o Watch Video Solution

107. There are three boxes containing respectively 1 white 2 red and 3
black balls, 2 wnite, 3 red and 1 black ball, 3 white, 1 red and 2 black balls. A
box is chosen and from it two balls are drawn at random. They happen to
be one red and one white. Fiild the probabilities that these come fronm

(i) The first box (ii) The second box and (iii) The third box


https://dl.doubtnut.com/l/_5JQ7r3PRzUL2
https://dl.doubtnut.com/l/_kEm3YGGalry1

Answer: B

° Watch Video Solution

108. If A and B are two independent events in a sample space S, then :

P(A/B’) =
A1-— P(A)
B.1— P(B)

C.1- P(A"/B’)

D.1— P(A’/B)

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_kEm3YGGalry1
https://dl.doubtnut.com/l/_aH1xVcCwJAXD

109. A bag contains 5 balls of unknown colours. There are equal chances
that O, 1, 2, 3, 4 or 5 balls out of these five are red. A ball is taken out of

the bag at random and found to be red. Then probability that it is the

only red ball in the bag is

N
E|,_. g|,_. U= o+

Answer: D

o Watch Video Solution

10. A letter is known to have come from either "TATANAGAR" or
"CALCUTTA" .On the envelope just two consecutive letters are visible. if the

visible letters are TA, then the probability that the letter has come from

_ 4 1 5 1
"CALCUTTA" is (A) 1 (B) § (@) 1 (D) 7


https://dl.doubtnut.com/l/_7OatbMOutWHc
https://dl.doubtnut.com/l/_qNnxfh1cqEFY

Answer: D

o Watch Video Solution

111. Natural numbers 1, 2, 3, ..., 2n are written down on 2n cards, One
card is selected at random from these cards. If the probability of drawing
a number 7 is proportional to ¢, then the probability of drawing an odd

number in one draw is

n + 2
‘n+3

C.
2n +1

n—1



https://dl.doubtnut.com/l/_qNnxfh1cqEFY
https://dl.doubtnut.com/l/_U033RERRijLa

Answer: C

° Watch Video Solution

112. Arandom variable X is defined by

3 with probability =

Bl W

X = ! 4 with probability =
12 with probability = =

Then, E(X) is

A.6
B.7
C.5

D.8

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_U033RERRijLa
https://dl.doubtnut.com/l/_5hlcOxdg4gas

113. A random variate X takes the values O, 1, 2, 3 and its mean is 1.3. If
P(X =3) =2P(X =1)and P(X = 2) = 0.3, then P(X = 0) is equal
to

A 0.1

B.0.2

C.0.3

D.0.4

Answer: D

o Watch Video Solution

114. . Two dice are thrown together. Find the probability of the same

number on both dice

Al


https://dl.doubtnut.com/l/_uMcEApeTk7Vl
https://dl.doubtnut.com/l/_RKKctKm83bPc

N

O
o= W

Answer: D

° Watch Video Solution

115. If 2 dice are thrown, then probability that first die shows an even

number, and second an odd number, is

ol KR Wk N

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_RKKctKm83bPc
https://dl.doubtnut.com/l/_u4X3MforWfbc
https://dl.doubtnut.com/l/_J63AeWbI3bS3

116. If 2 dice are thrown, then probability that product of the numbers on

them is 12 (or that they are factors of 12) is

N ol Rk o=

Answer: C

o Watch Video Solution

117.1f 6 dice are thrown, then probability that all show different numbers

is


https://dl.doubtnut.com/l/_J63AeWbI3bS3
https://dl.doubtnut.com/l/_kn9fw7eMWoth

Answer: C

° Watch Video Solution

118.If 2 cards are drawn from a pack of 52, then probability that they are

from the same suit is

now >

O
— —_ —_ |
oo|*'> x1|°° ﬂl"“ |

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kn9fw7eMWoth
https://dl.doubtnut.com/l/_bKMJehXaCcrB

119. Three horses Hy, Hy and Hj are in a race which i s won by one o f
them. If Hy is twice as likely to win as Hy and H, is twice as likely to win

as Hj, then their res p ective pro b abilities of Winnig are .

p 121
T
Bzél
T
cl 24
T
pl 24
3733
Answer: A

o Watch Video Solution

120. If 1 ticket is drawn from 50 tickets, numbered from 1 to 50 then

probability that the number on the ticket is divisible by 6 or 5 is


https://dl.doubtnut.com/l/_wv4u9eavdjPG
https://dl.doubtnut.com/l/_wM1XIscLnwfA

N

O
ol Wk

Answer: B

° Watch Video Solution

121.1f 1 pen is selected from a batch of 500 pens of which 50 are defective,

then probability that it is non-defective is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wM1XIscLnwfA
https://dl.doubtnut.com/l/_RSQIMVGkVa6r
https://dl.doubtnut.com/l/_BpaZtapD15mw

122. If A, B, C are pair-wise mutually exclusive, and exhaustive, events of a

sample space S, then P(A) + P(B) + P(C) =

A.O0

Answer: C

o Watch Video Solution

123. If A, B, C are independent events such that
1 1 1
P(ANB) = 3 P(BNC) = 3 and P(CNA) = o then respective

values of P(A), P(B) and P(C) are

A L 1 1
'273’

1 1
B.E,l,g


https://dl.doubtnut.com/l/_BpaZtapD15mw
https://dl.doubtnut.com/l/_u37XMzhnbODc

0
W =
—

@)
—
| =
W= N

Answer: B

o Watch Video Solution

124. If

P(A) = 0.8, P(B) = 0.6 and P(AN B) = 0.5, then P(B'/A’) =

>

(ORI S JUY [ NCRT N T

o

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_u37XMzhnbODc
https://dl.doubtnut.com/l/_yZZMQBy9Hw5y
https://dl.doubtnut.com/l/_zRSVZRzNAvJT

125. A ticket is drawn from 20 tickets, numbered from 1 to 20, and kept
aside. Then another ticket is drawn. Probability that both tickets show

even numbers is

Answer: A

o Watch Video Solution

126. Probability of throwing 15 in one throw with 3 dice is


https://dl.doubtnut.com/l/_zRSVZRzNAvJT
https://dl.doubtnut.com/l/_kXllZr0AcqqC

D.W

Answer: A

° Watch Video Solution

127. Probability of throwing neither 9 nor 11 in one throw with 2 dice is

g oot Wl o=

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kXllZr0AcqqC
https://dl.doubtnut.com/l/_h7pR257sfPc3

128.1n a single throw with 3 dice, probability of getting a total of at least

5is

Answer: B

o Watch Video Solution

129. If one card is taken from 17 cards, numbered 1, 2, 3, .., 17 , then

probability that number on it is divisible by 3 or 7 is


https://dl.doubtnut.com/l/_ewq3rgaux1y1
https://dl.doubtnut.com/l/_fxdKQnWGy8cc

Answer: B

° View Text Solution

130. If a pair of dice is rolled, then probability that total score is divisible

by either 3 or 4 is

Wi W= ol oo

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_fxdKQnWGy8cc
https://dl.doubtnut.com/l/_k1d2WAAIAVns

131. A box contains 50 bolts and 150 nuts. Half of the bolts and half of the
nuts are rusted. If one item is chosen at random, then probability that it

is rusted, or is a bolt, is

O
W oolot o= oo w

Answer: C

o View Text Solution

132. If

P(AUB) =0.7 and P(ANB) =0.2, then P(A’)+ P(B’) =

A.1.8

B.0.6


https://dl.doubtnut.com/l/_V8SkubJybxpB
https://dl.doubtnut.com/l/_KykG2XuksQbz

C.1.1

D.1.4

Answer: C

o View Text Solution

133. If 2 dice are thrown, the probability that product of scores is a

perfect square is

Blw W= ok o

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KykG2XuksQbz
https://dl.doubtnut.com/l/_MeuBIedCUFcV
https://dl.doubtnut.com/l/_hHGrKmNKWlR3

134. If A, B, C are mutually exclusive, and exhaustive, events of a sample

space S such that

P(B) = ;P(A) and P(C) = %P(B), then P(A) =

Answer: A

o Watch Video Solution

135. A card is drawn from a deck of 52 cards. Find the probability of

getting a king or a heart or a red card.


https://dl.doubtnut.com/l/_hHGrKmNKWlR3
https://dl.doubtnut.com/l/_11edEvuNso1R

Answer: B

o Watch Video Solution

136. A class consists of 100 students, 25 of them are girls and 75 boys, 20
of them are rich and remaining poor, and 40 of them are fair-
complexioned. Probability of selecting a fair-complexioned rich girl from
this class is

A.0.02

B.0.04

C.0.05

D.0.08

Answer: A



https://dl.doubtnut.com/l/_11edEvuNso1R
https://dl.doubtnut.com/l/_uCOgtCCXkcQJ

| ¥ VIEw IEXt Solution

137. A speaks truth in 60% of the cases and B in 90%. Percentage of cases

in which they are likely to contradict each other, while stating the same

fact, is

A.36 %
B.48 %
C.42%

D. 150 %

Answer: C

o Watch Video Solution

138. Two dice are thrown. If the second die is so biased that it always

shows 4, then probability that the total scoreis 8 is

A5
"6


https://dl.doubtnut.com/l/_uCOgtCCXkcQJ
https://dl.doubtnut.com/l/_nP9XwntrjvRh
https://dl.doubtnut.com/l/_rlTII9t4mdfL

N
U= W o

Answer: B

° Watch Video Solution

139. Three identical dice are rolled. The probability that same number

appears on them, is

w| = g|,_‘ §|H |~

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rlTII9t4mdfL
https://dl.doubtnut.com/l/_WWdS5k6CUs6j

140. If the probability that A and B will die within a year are p and q
respectively, then the probability that only one of them will be alive at the

end of the year, is

Ap-+gq
B.p+q— 2pq
Cp+qg—pg
D.p+ q+ pq
Answer: B

o Watch Video Solution

141. The probability that Krishna will be alive 10 years hence is 7/15 and
that Hari will be alive is 7/10. What is t he probability that both Krishna

and Hari will be dead 10 years hence?


https://dl.doubtnut.com/l/_WWdS5k6CUs6j
https://dl.doubtnut.com/l/_nrpypgJ9Vo7Y
https://dl.doubtnut.com/l/_Y5f6IVvEmV9q

A 21
" 150

2
" 150

49
" 150

b 56
150

Answer: B

o Watch Video Solution

142.1f 2 cards are drawn from a pack of 52 playing cards, probability that

at least one of them is ace is

1
Az
3
16

C9
" 20

b 3
221

—

w

Answer: D



https://dl.doubtnut.com/l/_Y5f6IVvEmV9q
https://dl.doubtnut.com/l/_yIGiv9rkNp0g

| o Watch Video Solution

143. As man is known to speak truth 3 out of 4 times. He throws a die and

reports that it is a six. Find the probability that it is actually a six.

Ol uw o= oo|w

Answer: A

o Watch Video Solution

144. A bag contains 10 mangoes out of which 4 are rotten. Two mangoes
are taken out together. If one of them is found to be good, the

. . ) 1 8 5 2
probability that other is also good is (a) 3 (b) I (c) 18 (d) 3


https://dl.doubtnut.com/l/_yIGiv9rkNp0g
https://dl.doubtnut.com/l/_5zwNT4j1Qqf5
https://dl.doubtnut.com/l/_OS865pIAy9Bx

now >

o
WlIN = = Wl =
I Blow oo !

Answer: C

o Watch Video Solution

145. Two events AandB have probabilities 0.25 and 0050, respectively.
The probability that both AandB occur simultaneously is 0.14. then the
probability that neither A norB occurs is a. 0.39 b. 0.25 c. 0.11 d. none of
these

A.0.28

B.0.39

C.0.61

D.0.72


https://dl.doubtnut.com/l/_OS865pIAy9Bx
https://dl.doubtnut.com/l/_XHvm5jJxSRwb

Answer: B

° Watch Video Solution

146. 3 mangoes and 3 apples are in a box. If 2 fruits are chosen at random,

the probability that one is a mango and the other is an apple, is

ol W= o w w|

Answer: B

° Watch Video Solution

147. If A B are independent events such that

1 1
P(ANB) = 8 and P(A'NB’) = 3 then P(A) =


https://dl.doubtnut.com/l/_XHvm5jJxSRwb
https://dl.doubtnut.com/l/_dS9LLBrE6nZC
https://dl.doubtnut.com/l/_cECFQ8HJfeFl

Wk |~ oot w|

Answer: C

o Watch Video Solution

148. If A, B are independent events such that

, 7 8 N
P(A’) = 10 and P(A U B) =10 then P(B’) =
2
A —
7
5
B. —
7
C.1
1
D. —
7

Answer: A



https://dl.doubtnut.com/l/_cECFQ8HJfeFl
https://dl.doubtnut.com/l/_aHNuukgzxjfw

| ° Watch Video Solution

1
149. If P(ANB) = P(A' N B’) = = and 2P(4) = P(B) =p, then

p:

W= = W N N

Answer: B

° Watch Video Solution

150. If A and B are independent events such that

P(A) = 0.30 and P(B) = 0.60. then probability of getting neither A

nor B is


https://dl.doubtnut.com/l/_aHNuukgzxjfw
https://dl.doubtnut.com/l/_2AkBloFOkT3B
https://dl.doubtnut.com/l/_Mj90CdjOHpBt

A.0.28

B.0.13

C.0.12

D. 0.42

Answer: A

o Watch Video Solution

151. A die is tossed twice. The prbability of having a number greater than

4 on each toss is

>

5',_, Wl O~k W

o

Answer: B



https://dl.doubtnut.com/l/_Mj90CdjOHpBt
https://dl.doubtnut.com/l/_JpDzGEy1EhsH

| ° Watch Video Solution

1 1 5
152.1f P(4) = 5, P(B’) = 5 and P(AUB) = < then P(4/B) =

Answer: C

° Watch Video Solution

153. Two dice are thrown together. Find the probability that a multiple of

2 occurs on one dice and a multiple of 3 occurs on the other.

>
W= o+

@


https://dl.doubtnut.com/l/_JpDzGEy1EhsH
https://dl.doubtnut.com/l/_pefOFsWtVEFS
https://dl.doubtnut.com/l/_F55EOPXVbb0s

Answer: B

o Watch Video Solution

154.

P(AUB) = 0.6 and P(ANB) = 0.2, then P(A’) + P(B’) =

A 1.2

B.1.4

C.0.8

D.0.4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_F55EOPXVbb0s
https://dl.doubtnut.com/l/_8QtLXcel3f0S
https://dl.doubtnut.com/l/_37XLUGNBk4en

155. A bog contains 5 white and 4 black balls, and another bag contains 4
white and 6 black balls. One ball is taken at random from the first bag and
put in the second. If a ball is taken at random now from the second bag,

probability that it is black is

48
99
58
99
68
99
32
99

Answer: B

o Watch Video Solution

1 11

156. Probabilities that A, B, C can hit a target are 3105

respectively. If
they all fire simultaneously, the probability that exactly two of them hit

the target is


https://dl.doubtnut.com/l/_37XLUGNBk4en
https://dl.doubtnut.com/l/_psfmpPUz4twd

Answer: C

° Watch Video Solution

157. An urn contains 5 blue and an unknown number x of red balls.Two

balls are drawn at random. If the probability of both of them being blue is

5/14 find x.

Al
B.2
C.3

D.4

Answer: C

[ -


https://dl.doubtnut.com/l/_psfmpPUz4twd
https://dl.doubtnut.com/l/_0wsF18zQzQkM

| @J Watch Video Solution J

158. If 9 boys and 5 girls sit in a row, then probability that 4 particular

persons never sit together (not even two of them ) is

A 13
" 91
30

91
13

" 19
14

" 91

Answer: B

° View Text Solution

159. A determinant is chosen at random from the set of all determinants
of order two with elements O or 1 only. Probability that the determinant

chosen has positive value is


https://dl.doubtnut.com/l/_0wsF18zQzQkM
https://dl.doubtnut.com/l/_vGfIVlkicF2R
https://dl.doubtnut.com/l/_jXMReYzuQGoh

A —
B.

6
C.6

—

3
i
5
1
s
3
D. —

16

Answer: D

o Watch Video Solution

160. If E and F are independent events such that

1 1
P(ENF)=— and P(E'NF’) = E,then

12
A P(E) = %,P(F) = %
B. P(E) = %,P(F) = %
C.P(E) = %,P(F) = %
D. P(E) = %,P(F) :%



https://dl.doubtnut.com/l/_jXMReYzuQGoh
https://dl.doubtnut.com/l/_tlf3GlnRK7kV

| o Watch Video Solution

161. A student appears for tests I, Il and lll. The student is successful if the

passes either in tests | and Il or tests | and lll. The probabilities of the
1

student passing in tests I, Il and Illl are p,q and 7 respectively. If the

1
probability that the student is successful, is 7 then

Ap=gqg=1
B b — g 1
‘p_q_ 2
Cp=19=0
1
D.p=14qg=73
Answer: C

o Watch Video Solution

162. Let A and B be two events such that

P(ANnB’) =0.20,P(A’"NB)=0.15,P(A’NB’") =0.1, then


https://dl.doubtnut.com/l/_tlf3GlnRK7kV
https://dl.doubtnut.com/l/_6rlYax3980Ew
https://dl.doubtnut.com/l/_uJ27BrbGM0u0

p(A/B) is equal to,

[\©)
i L= PO

Answer: A

o Watch Video Solution

163. Suppose n( > 3) persons are sitting in a row. Two of them are

selected at random. The probability that they are not together is (A)

2 1
1 - —(B) (C) 1 — — (D) nonoe of these
n n

n—1

2
Al— —
n

2

B.
n—1

1
Cl——
n


https://dl.doubtnut.com/l/_uJ27BrbGM0u0
https://dl.doubtnut.com/l/_jSLt7ASkfaiM

Answer: A

° Watch Video Solution

164. If A and B are any two events in a sample space S, then
P(ANB’) 4+ P(A’NB) +p(A’ N B’) is the probability of occurrence
of

A. neither A nor B or both

B. at least one of Aand B

C. At most one of A, B

D. exactly one of A, B

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_jSLt7ASkfaiM
https://dl.doubtnut.com/l/_9TKI1O7GphW2
https://dl.doubtnut.com/l/_B2bVeoNHplLB

165. A six-faced dice is so biased that it is twice as likely to show an even
number as an odd number when thrown. It is thrown twice, the
probability that the sum of two numbers thrown is even is 1/12b.1/6 c.

1/3d.5/9

i g]lw o] o]t

Answer: A

o Watch Video Solution

166. A die is thrown and the number turned up is taken as the value of 'c'
in the quadratic equation z® + 2z 4+ ¢ = 0. Then probability that its

roots are not real is

A.O


https://dl.doubtnut.com/l/_B2bVeoNHplLB
https://dl.doubtnut.com/l/_DuFOvgGaULAy

@

N
oot o+

Answer: C

° Watch Video Solution

167. Probability that a card, drawn at random from a full pack of 52

playing cards, is a heart or a face card is

17
52
11
" 52
11
26
16
51

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DuFOvgGaULAy
https://dl.doubtnut.com/l/_UU5j15SjJw9z

168. A and B are two independent witnesses in a case. The probability that
A will speak the truth is x and the probability that B will speak the truth is
y. A and B agree on a certain statement. The probability that the

statement is true is

) Fd—y) +y(d —2)
o l-z—y+zxy

B. 2y
l—-az—y+ay

Ty
r+vy

C.

2zy
‘z+y

Answer: B

o Watch Video Solution

169. A bag contains 3 white balls and 2 black balls, another contains 5
white and 3 black balls, if a bag is chosen at random and a ball is drawn

from it. What is the probability that it is white ?


https://dl.doubtnut.com/l/_UU5j15SjJw9z
https://dl.doubtnut.com/l/_G3sRAMqtSBsl
https://dl.doubtnut.com/l/_SKR5FIX7fcVk

31
80

39
80

49
" 80
51
" 80

Answer: C

o Watch Video Solution

170. If 2 fair dice are thrown, then probability of getting a total score s

where2 < s < 7,is

A 21
" 36

s—1
36
s—1
6
§s—5
9

Answer: B



https://dl.doubtnut.com/l/_SKR5FIX7fcVk
https://dl.doubtnut.com/l/_X8x02IUVI3hy

| ° Watch Video Solution

171. If 2 fair dice are thrown, then probability of getting a total score s
where 8 < s < 12,is

15
A —

36
Bs—l
" 18
s—1)(s —2
cleoges
D13—s
- 36

Answer: D

° Watch Video Solution

172. Three numbers are chosen from 1 to 20. Find the probability that

they are consecutive.


https://dl.doubtnut.com/l/_X8x02IUVI3hy
https://dl.doubtnut.com/l/_zm8Uh09K8h86
https://dl.doubtnut.com/l/_iDxVGuVm4Qo5

Answer: A

° Watch Video Solution

173. If A and B toss 3 coins each, The probability that both get equal

number of heads is

N w >

O
| = —_ ©| =
l ©|U‘ @|°° |

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iDxVGuVm4Qo5
https://dl.doubtnut.com/l/_uIiQ7L5wp4Pn

174. If 1 glove is selected from each of 4 pairs of gloves, then probability

that all selected gloves are for the same hand is

0|~ &= N

1

D.
16

Answer: C

o Watch Video Solution

175. A specially made die has number 3 on three faces, 2 on two faces and
1 on sixth face. If it is thrown twice, then probability that both throws

result in even sum is


https://dl.doubtnut.com/l/_uIiQ7L5wp4Pn
https://dl.doubtnut.com/l/_GWd2o3y8qaSB
https://dl.doubtnut.com/l/_Jd6rbV8K7eXn

O

w w
cn|°“ <:n|"‘

Answer: D

° Watch Video Solution

176. One ticket is drawn from a box containing 100 tickets numbered from
1 to 100. If the number on the selected ticket is x then probability that

1 .
T+ — > 2is
T

Answer: B

[ - ]


https://dl.doubtnut.com/l/_Jd6rbV8K7eXn
https://dl.doubtnut.com/l/_gCWU1vtajWHO

| @J Watch Video Solution J

177. If A, Ay, As...., Ay are independent events such that

1
P(A;) = —— where 1 < I < 8, then probability that none of them
1+

will occur is

Ol N+~ W= ol

Answer: D

° Watch Video Solution

178. What is the probability that the 13th days of a randomly chosen

months is Friday?


https://dl.doubtnut.com/l/_gCWU1vtajWHO
https://dl.doubtnut.com/l/_rTmFK55uPSmv
https://dl.doubtnut.com/l/_O2mNfiOdzZ5n

®| = oo N~ e
.4>|© .4>|"‘ ! w|'—‘

Answer: C

o Watch Video Solution

179. A and B are two independent events such that

P(ANB) = 2% and P(ANB) = 2—35 ,then P(A) =

Ol oo oW ot

Answer: A



https://dl.doubtnut.com/l/_O2mNfiOdzZ5n
https://dl.doubtnut.com/l/_Jaj6efZcxI6d

| ° Watch Video Solution

180. If A and B are independent events such that

P(A) = 0.3 and P(AUB’) = 0.8, then P(B) =

| ot |0 oo ot oo w

Answer: C

° Watch Video Solution

1 11
181. Probabilities that A, B, C pass a test are — — respectively.

3’4’5

Probability that at least two of them will pass in a test is


https://dl.doubtnut.com/l/_Jaj6efZcxI6d
https://dl.doubtnut.com/l/_T5moG1HcY9i9
https://dl.doubtnut.com/l/_PUwMpfhMc6s1

Answer: B

° Watch Video Solution

182. The probability that a leap year selected at random will contain

either 53 Thursday or 53 Friday is

w
N ot Nl | w

106

w
D
(=]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PUwMpfhMc6s1
https://dl.doubtnut.com/l/_vxFciKGCuKNG

183. If a die is thrown 4 times, then probability that minimum score at any

throw is not less than 3 is

127
16
" 81
17
81

13
127

Answer: B

o Watch Video Solution

184. Two dice are thrown together. Find the probability that a multiple of

2 occurs on one dice and a multiple of 3 occurs on the other.

N
'3
B.
36


https://dl.doubtnut.com/l/_vxFciKGCuKNG
https://dl.doubtnut.com/l/_Nw0zs51t8ndD
https://dl.doubtnut.com/l/_ltjMZIFNEtfB

Answer: C

o Watch Video Solution

185. Ina certain town, 40% of the people have brown hair, 25% have
brown eyes, and 15% have both brown hair and brown eyes. If a person
selected at random from the town has brown hair, the probability that he

also has brown eyesis1/5b.3/8¢c.1/3d.2/3

Wi W= wolw o=

Answer: B



https://dl.doubtnut.com/l/_ltjMZIFNEtfB
https://dl.doubtnut.com/l/_AfDtiKaibsxY

| ¥ vvatch video sSolution J

186. Probability of throwing a 5 only on the first of two successive throws

of an ordinary die is

Answer: B

o Watch Video Solution

187. A card is drawn at random from a pack of 100 cards numbered 1 to
100. The probability of drawing a number which is a square is a. 1/5 b. 2/5

c.1/10 d. none of these


https://dl.doubtnut.com/l/_AfDtiKaibsxY
https://dl.doubtnut.com/l/_RMyNZZYVbXu3
https://dl.doubtnut.com/l/_QobFrbTcXuhZ

Answer: C

° Watch Video Solution

188. A box contains 5 red, 4 blue and an unknown number 'n’ of green

balls. If probability of both balls being green, when 2 balls are selected

1
from the box, is T thenn =

Al

B.6

D.12

Answer: B

[ -


https://dl.doubtnut.com/l/_QobFrbTcXuhZ
https://dl.doubtnut.com/l/_p96y49xDJ3n8

| @J Watch Video Solution J

189. If A and B are mutually exclusive events such that

P(A) = 0.45 and P(B) = 0.35, then P(AN B) =

A 63
" 400

C.o

b 63
200

Answer: C

° Watch Video Solution

190. A and B throw a dice. The probability that A's throw is not greater

than B's, is


https://dl.doubtnut.com/l/_p96y49xDJ3n8
https://dl.doubtnut.com/l/_evuMknEh7HNy
https://dl.doubtnut.com/l/_ISZaV9Ne6aue

@

N
N|R R R
| = ]~

o

Answer: B

° Watch Video Solution

191. A committee of five is to be chosen from a group of 9 people. The

probability that a certain married couple will either serve together or not

at all is

O|lot Ok W N

Answer: C

[ - 1



https://dl.doubtnut.com/l/_ISZaV9Ne6aue
https://dl.doubtnut.com/l/_ydQn8VZmMpNO

| @ Watch Video Solution J

192. A five digit number if formed by the digits 1,2,3,4,56 and 8. The

probability that the number has even digit at both ends is

Ok Nl N g w

Answer: B

o Watch Video Solution

193. The probabilities of a student getting I, Il and Il division in an
1 3 1
examination re TO’gandZ respectively. The probability that the
83
student fails in the examination is 197 b. 27 C d. none of these

200 100 100


https://dl.doubtnut.com/l/_ydQn8VZmMpNO
https://dl.doubtnut.com/l/_gCv6A159AUb1
https://dl.doubtnut.com/l/_8Mrb46uQgAQr

197
" 200

27
" 100

83
" 100

b 9
100

Answer: B

o Watch Video Solution

194. A five digit number is formed but the digits 1,2,3,4,5 without

repetition. Find the probability that the number is divisible by 4.

—t

5
4
)
3
i)
D.

15

Answer: A



https://dl.doubtnut.com/l/_8Mrb46uQgAQr
https://dl.doubtnut.com/l/_Gcrwxdoh4imc

| ° Watch Video Solution

195.In a single throw with 3 dice, probability of getting a total of at least

5is

Answer: B

° Watch Video Solution

196. If two unbiased dice are rolled, find the probability that the total

score is a prime number.

A1
2


https://dl.doubtnut.com/l/_Gcrwxdoh4imc
https://dl.doubtnut.com/l/_s1ilqUzx8k8q
https://dl.doubtnut.com/l/_D31K6YNCG0ly

Answer: C

o Watch Video Solution

197. A coin and a die are thrown. If A denotes the event: head and an even
face, and B denotes the event : tail and a multiple of three, then

P(A) and P(B) are respectively

all
3’5
g1 1
"4’ 6
11
"5 4
ol 1
273
Answer: B

[ - ]


https://dl.doubtnut.com/l/_D31K6YNCG0ly
https://dl.doubtnut.com/l/_OIEvfrsKIpoi

| @J Watch Video Solution J

198. There are 100 students in a class of which 36 are boys studying
science and 13 are girls not studying science. If there are 55 girls in all,

probability that a boy picked up at random is not studying science is

Wl U= oo o w

Answer: C

° View Text Solution

199. If an integer is chosen at random from the first two hundred, then

probability that it is divisible by 6 or 8 is


https://dl.doubtnut.com/l/_OIEvfrsKIpoi
https://dl.doubtnut.com/l/_2vxj1RaMQwiy
https://dl.doubtnut.com/l/_HXC5PuNz2UJO

Wl Bmw = N

Answer: B

o Watch Video Solution

200. 100 students appeared for two tests, 60 passed the first, 50 passed

the second and 30 passed both. Probability that a student selected at

random has failed in both tests is

A 0.4
B.0.2
C.0.3

D.0.5


https://dl.doubtnut.com/l/_HXC5PuNz2UJO
https://dl.doubtnut.com/l/_aRq9Lu6zWL5x

Answer: B

° Watch Video Solution

2
201. Probability that a man will get tea is 3 and that he will not get

5 4
coffee is 9 If the probability of getting at least one during is B then

probability that he will get both is

14
A —
45

7
B. —
45

13
C.—
45

11

D. —
45

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aRq9Lu6zWL5x
https://dl.doubtnut.com/l/_SN4fJHDRG2aA

202. A bag contains 3 rd and 7bhlack balls. Two balls are selected at
random one by one without replacement. If the second ball happens to

be red, what is the probability that the first selected ball is also red?

|©

Ol Ol =

D.W

Answer: C

o Watch Video Solution

203. In a class of 125 students 70 passed in Mathematics, 55 in statistics,
and 30 in both. Then find the probability that a student selected at

random from the class has passes in only one subject.

A 13
" 25


https://dl.doubtnut.com/l/_ZWlET7MLs1mX
https://dl.doubtnut.com/l/_Wrc0iL6MYQBf

Answer: A

o Watch Video Solution

204. The probability that a man will live 10 more years is 1/4 and the
probability that his wife will live 10 more years is 1/3. Then the

probability that neither will be alive in 10 years, is

[y S — N = =
w|+—\ w|\‘ | w|°“

Answer: B

[ - ]


https://dl.doubtnut.com/l/_Wrc0iL6MYQBf
https://dl.doubtnut.com/l/_xZc7AT17ScT1

| @J Watch Video Solution J

205. There are 4 envelopes corresponding to 4 letters. If the letters are

placed in the envelopes at random, probability that all the letters are not

placed in the right envelopes is

A 18
" 24

B 23
" 24

Answer: B

o Watch Video Solution

206. If A and B are mutually exclusive events in a sample space 'S, then

A P(A) < P(B)


https://dl.doubtnut.com/l/_xZc7AT17ScT1
https://dl.doubtnut.com/l/_kF9nPmb4bNJb
https://dl.doubtnut.com/l/_oBfIHoWzG9PQ

D.P(A) + P(B) = 1

Answer: C

° Watch Video Solution

207. If A and B are two independent events such that

P(A) = - P(B) = a andP(AU B) = —— then o s

>

w
EN TS EEEN N

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oBfIHoWzG9PQ
https://dl.doubtnut.com/l/_nxdLZc5CN63m

208. If A and B are independent events such that
P(A) = 0.30 and P(B) = 0.60. then probability of getting neither A
nor B is

A.0.28

B.0.13

C.0.12

D. 0.42

Answer: A

o Watch Video Solution

209. 7 white balls and 3 black balls are kept randomly in order. Find the

probability that no two adjacent balls are black.


https://dl.doubtnut.com/l/_nxdLZc5CN63m
https://dl.doubtnut.com/l/_GxljXIfkd9kw
https://dl.doubtnut.com/l/_i86ctRjKtlCq

Answer: B

° Watch Video Solution

210. A fair coin is tossed repeatedly. If tail appears on first four tosses,
them the probability of head appearing that 2 white and 1 black balls will

be drawn, is

Answer: A

[ - |


https://dl.doubtnut.com/l/_i86ctRjKtlCq
https://dl.doubtnut.com/l/_6rVGNL6aWoZg

| @J Watch Video Solution J

211. Five horses are in race. Mr. X selected two of horses at random and

bets on them. The probability that Mr. X selected the winning horse is

gl o= o w o

Answer: D

o Watch Video Solution

212. Two dice are rolled once. Find the probability of getting such

numbers on two dice whose product is a perfect square.

A2
"9


https://dl.doubtnut.com/l/_6rVGNL6aWoZg
https://dl.doubtnut.com/l/_l5fqZRYJrUGx
https://dl.doubtnut.com/l/_hnLblaD3Pq0N

N
W W= ol

Answer: A

° Watch Video Solution

213. If A and B are independent events such that

3
P(ANB) = — and P(A' N B) = than: P(A) =

25 25’

W1
25
e
25
3

C. —
11

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hnLblaD3Pq0N
https://dl.doubtnut.com/l/_X1hrw7nl0b1c

214. Out of 30 consecutive integers 2 are choosen at random. Find the

probability so that their sum is odd.

14
29
16
29
15
29
10
29

Answer: C

o Watch Video Solution

215. Three integers are chosen at random from the first 20 integers. The

probability that their product is even is a. 2/19 b.3/29 . 17/19 d. 4/19


https://dl.doubtnut.com/l/_X1hrw7nl0b1c
https://dl.doubtnut.com/l/_Z9l0RdJS4TKG
https://dl.doubtnut.com/l/_7n0Qc1FNwh3W

Answer: C

° Watch Video Solution

216. A bag contains 16 coins of which two are counterfeit with heads on

both sides. The rest are fair coins. One is selected at random from the

bag and tossed. The probability of getting a head is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_7n0Qc1FNwh3W
https://dl.doubtnut.com/l/_MDtCFAK4o3Fc

217. Conditional probability P(B/ A) is defined only when a

A. A is a sure event
B. B is a sure event
C. Ais not an impossibility

D. B is an impossibility

Answer: C

o Watch Video Solution

218. Conditional probability P(A /B’) is defined only when

A. B is not a sure event
B. B is a sure event
C.Bis an impossible event

D. B is not an impossible event


https://dl.doubtnut.com/l/_MDtCFAK4o3Fc
https://dl.doubtnut.com/l/_6tb2IjFJuOZV
https://dl.doubtnut.com/l/_MKwv5yADJwHk

Answer: A

° Watch Video Solution

219. Following are the wages of 8 workers in rupees:
50, 62, 40, 70, 45, 56, 32, 45 If one of the workers is selected at random,
what is the probability that his wage would belower than the average
wage?

A.0.625

B. 0.500

C.0.375

D. 0.450

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MKwv5yADJwHk
https://dl.doubtnut.com/l/_JrIF3EDTunah

220. For two events A and B, P (B) =0.3, P (A but not B) =0.4 and P (not A)

= 0.6. The events A and B are

A. exhaustive

B. independent

C. equally likely

D. mutually exclusive

Answer: D

o Watch Video Solution

then: P(AUB) =

Wl oot w| e


https://dl.doubtnut.com/l/_XyzbQyR09z50
https://dl.doubtnut.com/l/_rKJovrb9G79v

Answer: C

° Watch Video Solution

P(A) =a,P(B) =band P(ANB) =¢, then:

Al—a—-b-c

B.a+b—c¢

Cl+a—-b-—oc

D.l1—a—-b+e¢

Answer: D

P(ANB) =

° Watch Video Solution



https://dl.doubtnut.com/l/_rKJovrb9G79v
https://dl.doubtnut.com/l/_YouoiGyoxgJ7

223. For three events A, B, C the probability that only A occur is (A)
P(A)B)P(AUBUC)(QQP(A’'NnB'NnC’")(D)P(ANB' ' NC")
A.P(A)
B.P(A/BNC)
CP(A'NnBNCQC)

D.P(ANB ' NC’)

Answer: D

o Watch Video Solution

224. If 2 coins are tossed, probability that the second coin would show a

tail given that the first coin had shown a head, is

A.0.50

B.0.25

C.0.75


https://dl.doubtnut.com/l/_X9Gs4C7cLl6x
https://dl.doubtnut.com/l/_IM1ucnECDgej

D.0.125

Answer: A

° Watch Video Solution

225. What is the probability that 4 children selected at random would

have different birthdays?

A 364 x 363 x 362
(365)*
6 xbhx4
B.————
73

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IM1ucnECDgej
https://dl.doubtnut.com/l/_1PUiNQV4T3O3

226. In the above example, probability that his wages are above Rs. 200 is

43
" 100

35
100

53
" 100

b 61
100

Answer: D

o View Text Solution

227.1n Ex. 230, probability that his wages are between Rs. 160 and Rs. 220
is

30
A. 100
10
©100
38
"100
18
D. 100


https://dl.doubtnut.com/l/_SGIJYjrEWVcL
https://dl.doubtnut.com/l/_2f2FTu7DhPc3

Answer: D

° View Text Solution

228. A card is drawn from each of two well-shuffled packs of cards.

Probability that at least one of them is an ace is

1
" 169

25

1169
2

"169

D %
1169

Answer: B

° Watch Video Solution

229. If 2 dice are thrown, probability that the two numbers turned up

differ by 1is


https://dl.doubtnut.com/l/_2f2FTu7DhPc3
https://dl.doubtnut.com/l/_Bs6uselgIOOj
https://dl.doubtnut.com/l/_CVw1sPVO0Uyj

11

5
18

18

11
18

Answer: B

o Watch Video Solution

230. If 2 dice are thrown, probability that the two numbers turned up

differ by 2 is

Ol Ol ©o|lot |

Answer: A



https://dl.doubtnut.com/l/_CVw1sPVO0Uyj
https://dl.doubtnut.com/l/_CrH6bPX8xZph

| o Watch Video Solution

231. A player has 7 cards in hand of which 5 are red and of these five 2. are
kings. A card is drawn at random. The probability that it is a king, it being

known that it is red is

w
ol o oo

Answer: A

o Watch Video Solution

3
232. Probability that A speaks truth is 5 and that for B is 1—70 If they

agree on a statement, then probability that this statement is true is


https://dl.doubtnut.com/l/_CrH6bPX8xZph
https://dl.doubtnut.com/l/_KUoeaZzfNFOs
https://dl.doubtnut.com/l/_9x9FzYlFPQ7o

21
27
22
27

23
27

24
27

Answer: A

o Watch Video Solution

4 2 1
233. Probabilities of A, B and C becoming managers are 99 and 3

respectively. Probabilities that the Bonus Scheme will be introduced if A, B

3 1
and C become managers are 102 and T respectively. If the bonus
scheme has been introduced, then probability that the manager

appointed was A is


https://dl.doubtnut.com/l/_9x9FzYlFPQ7o
https://dl.doubtnut.com/l/_AMQDfAbfo54S

Answer: C

° View Text Solution

P(A) = P(B) =z and P(ANB) = P(A’ N B’), then: z =

S= = wWRk N

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_AMQDfAbfo54S
https://dl.doubtnut.com/l/_lv3cZ10ABM7b

235. If A and B are two events such that

2 1
P(B) = 5 and P(ANB) = =z then: P(AUB’) =

aolw ok oo o =

Answer: C

o Watch Video Solution

236. A dice is rolled three times, find the probability of getting a larger

number than the previous number each time.

A.15/216
B.5 /54

C.13/216


https://dl.doubtnut.com/l/_9yI193waPKLE
https://dl.doubtnut.com/l/_tYXX0rjt0ZGg

D.1/18

Answer: B

° Watch Video Solution

237. A number of 3 different digits is formed from the digits 0, 1, 2, 3, 4, 5,
6 Probability that the number formed is '340' is

A.1/180

B.7/180

C.111/180

D.113/180

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tYXX0rjt0ZGg
https://dl.doubtnut.com/l/_sGoyI6O73iFH

238. If
P(A)=1/3,P(B) =1/4 and P(ANB) =1/5, then: P(B'/A’) =
A.37/40
B.37/45
C.23/40

D.23/45

Answer: A

o Watch Video Solution

239.1f 4 P(A) =6 P(B) =10 P(A N B) = 1then P(%) =

A.2/15
B.3/5

c.2/5


https://dl.doubtnut.com/l/_WvJ8xv7utlnT
https://dl.doubtnut.com/l/_mittUVlGAX8o

D.7/10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mittUVlGAX8o

